VERA DREAM STORAGE BED ASSEMBLY INSTRUCTION OB

LIVING SPACES

Vendor Information

Living Space Information

Vendor Name: LSMX1 Vendor Collection: VERA DREAM STORAGE

Vendor Code: V-005852

ITEM DESCRIPTION QUANTITY
1 |VERA DREAM HEADBOARD 1 PIECE
2 |VERA DREAM RAILS/SLATS 1KIT
3 |VERA DREAM FOOTBOARD 1 PIECE
4 |VERA DREAM DRAWERS 1KIT

CILIES

LIVING SPACES

1 HEADBOARD .
X1

2 RAILS/SLATS By X2
E—

3 FOOTBOARD WITH
DRAWERS 1

Hardware bag included in side rails and
slat box with red ribbon to located.

5/16-18X1" SCREW
BUTTON HEAD CAP

B WASHER 5/16 PLAIN 0
X8

3/16 SHORT ARM
HEX KEY

5/16-18X 1 1/2" SCREW
BUTTON HEAD CAP

VERA DREAM STORAGE
BED

STEP 1: Attach side rails to headboard using Wrench(C), 4 Screws (A) and

Washers (B).




VERA DREAM STORAGE BED ASSEMBLY INSTRUCTION OB

LIVING SPACES

Vendor Information Living Space Information
Vendor Name: LSMX1 Vendor Collection: VERA DREAM STORAGE
Vendor Code: V-005852

STEP 3: Attach the support legs with leveler to the center slat. Adjust the levers on bottom of support legs when
necessary.

STEP3 TURN RIGHT

T
< ~— =
I ~— STEP 4: Place the piece STEP4
\'

from top to bottom into the
U-shaped slot.

STEP 5: Hold the center slat with the "L"
shape shat using Wrench(C), 1 Screw (D
and Washer (B). C

STEP5

STEP 6: Insert the footboard
storage assembly (instructions
on drawers box) into bed
assembly as shown in the picture




VERA DREAM STORAGE BED ASSEMBLY INSTRUCTION A=)

LIVING SPACES

Vendor Information Living Space Information
Vendor Name: LSMX1 Vendor Collection: VERA DREAM STORAGE
Vendor Code: V-005852

STEP 7: Unroll the slats onto the center slat staring at the footboard and
ending at the headboard.

Unroll Slats

STEP 8: Verify the slats are installed properly the legs are perpendicular
to the floor for full support.

Floor




VERA DREAM WINGS ASSEMBLY INSTRUCTION CIEIE

LIVING SPACES

Vendor Information Living Space Information
Vendor Name: LSMX1 Vendor Collection: VERA DREAM
Vendor Code: V-005852
ITEM DESCRIPTION QUANTITY
1 |VERA DREAM WINGS 2
EH STEP 1: Attach brackets (A & B) facing left side to wing, to the end of the slot
LIVING SPACES : g g ,

using wrench(E), screw (C), and flat washers (D).
1 |WINGS

|| || }

Hardware bag included below with red
ribbon to located.

A |SLOT BRACKET -

X4

B CORNER BRACKET g
X2

5/16-18X1-1/4" SCREW
BUTTON HEAD CAP

X10

D 'WASHER 5/16 PLAIN 0
X10

. 3116 SHORT ARM
HEX KEY I/xz

STEP 2: Attach brackets (A & B) facing right side to wing, to the end of the slot,
using wrench(E), screw (C), and flat washers (D).

VERA DREAM BED
WITH WINGS




VERA DREAM WINGS ASSEMBLY INSTRUCTION CIEIE

LIVING SPACES

Vendor Information Living Space Information
Vendor Name: LSMX1 Vendor Collection: VERA DREAM
Vendor Code: V-005852

STEP 3: Raise bed to put inside the side riel of wing bracket.

Side rail

——
———————
—_—

— d

D> &

Ay ///

. Floor -

Side rail

Headboard




ASSEMBLY INSTRUCTIONS
LS SKU: EAKING LS PRODUCT NAME: STORAGE BED VERA DREAM

LIVING SPACES

ITEM DESCRIPTION QTY DRAW

A FOOTBOARD 1 %

B DRAWER 3 @

TORNILLO PARA LLAVE ALLEN CABEZA
C PLANA 5/16" X 1 5/8" 12 [—
D 3/16 SHORT ARM HEX KEY 1 I

D

22.00
&
2

25.40,




	Sheet2
	Sheet3
	Sheet3 (2)
	Sheet2
	Sheet3
	Sheet1
	Drawing View3
	Drawing View4
	Drawing View5
	Drawing View8
	Detail View B (1 : 2)
	Drawing View12
	Drawing View13


